INTERMEDIATE ALGEBRA EXAM 2 E¥* NAME

SHOW ALL WORK ON THIS TEST OR ON SEPARATE PAPER. Circle answers.
TURN IN ALL WORKSHEETS. CALCULATORS ARE PERMITTED ON THIS TEST.

In 1 - 6, factor completely:

1. x* - 3x - 18 2. 49x* - 16 3. (3x-y)¥ - 6(3x-y) + 8

4. 2x3%° - 250%x° 5. x5 - 5x%- 9x + 45 6. 5x*+ 32x - 21

In 7-8, solve for x:

7. x*+ 2x = 0 8. x%- 12 4x 9.

It

In 10-13,perform the indicated operations (add, subtract, multiply,
or divide.) REDUCE ALL FRACTIONS COMPLETELY!

x3 -8 24x - 18y 16x2 - 9y?

10, X2 -4 11. 12 - 4 . 3x%-4x - 15




In 14 - 15, solve the equations for X:

2_
14. X 5 15. 4 . 2 L X 6x+12 -0

x + 1 x+9 x -4 x-2 x%-6x+8

In 16 - 17, divide:

16, 4° - 8%+ 12 17. X’ - Tx* + 13x - 20
8x? x -5




In 18 - 21, simplify the complex fractions:

i+2 E—i
18. X 19. 3 X
) - 4 x* 3
by 9 X
20 ! 21. X1 -y
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TNTECRED A TE  ALG Exdm 2&* M‘éﬁg

/. X318

3. (3x- X
@@ x-§) = & (3%-4) +§

Woetd) = (x-4) 4| [Gx-)- 2]
6. 85X yax—z @:@ (743
@?X(x+7 g. Xl =X
7. 2% 2x - o XEgxm)2 =D

' a} 2 =

/2 - 4§ - ?)gr?:’;mqthls_,
MK~ 184" Tox = G5

= 40
2 s, ?.:,?Ei“”‘”@

| s
7 B xEEx4

| =

~ =4 @x+3y)
& (3x+5) $ |
4,z | o 2,
Leh ':‘2_4)(;3 /7 x 3 Lep ,:5(%-3)(2(‘# 3)
(%-3) *= (x»?)%@
N X X+ 3 (x-3)
. 5’; 2 (x-3) = (<+3) fst)(xﬁ) (x~3)
, = Xpix =2+ .Afj%,
| 7@ e 5"4}(’@ Wdf4=3) 75t 3) X=3) *(x+33)
4. L= : + X Xt (2, | 6, 4x3
o/ %“#"’7 ﬁ 3 W) ?2_& gx?w s !%
%(xﬁt—% = & (%4 1) 4(&%} -+ 2(,4& 4) 4+ %2 g%:i{; 2 g > Fox e
A%, = S & %ﬁg+ﬁ“8*xﬁéf*e; o, ==+
2

2K e

X +dx—5 =0

17, % + (=2

b =8
X+ x-) = O o s
K= =& }é‘i;D v £ atc:

| =2

(&, -l 4

et 2) 7
dex)

= 4+ 2%
Fyvpay)

Qi’ ;g@.



